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Problems of the DayFLFl] 0"9

| Which of these numbers is closest to 3 Annie has an 80 cm piece of wire.
107

9
L — —
@ @ She cuts the wire intfo two pieces.

The long piece is 50 cm long.

Which of these humbers is closest to

50? | S —— —

2 What are the missing humbers?

She cuts the smaller piece into 2
eu= 10+ more pieces of equal size.

How long is one of these pieces?

39 =100 -
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|  Which of these nhumbers round to 3 Annie has a | metre piece of wire.
2,000 to the nearest 100? She cuts the wire into two pieces.
She uses the smaller piece to make
1950 2312 2,099 2,045 this rectangle.
iU cm .
2 What are the missing humbers? Ucm [
6.4 =1+ She uses the other piece of wire to

make a square.

32 =1 + What is the length of one side of
S the square?
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